Algebra

Ctoncise-9.1 .
soluwtion-~-olz-

T4 e voouable n stands fo¥ the number of ledas
fosvned  ben e mumbey OF TaltchstickS Tequived (g
gwen by
6 A padiean of  letta T - an
fy A podlem of el N o-an
(> A ot of Leflln Z -39
YA PabEnn o8 Lettey U- 3Bn.
VY A pPaltznn of Letd F -4n
VI polieom oF |ettesn S -B5N .

Solution -02'-
Q'IT rhone and 24 mﬂcﬂ-gq in & Lon.
Lot .j_.r: Le the numbey of baotes

nurbEY of  MoNnA0ES i tEYMS af Hhe U Les of

ho+€ S Can he Los e nas ?_HL.-. )

golubion -0

Anusadua's Rangpli has 'R dets in a vow e

rwrn e o ¥ dopts i =Y 31(“‘\59[_._ for ‘H‘ 0 wS fg .%fk

if lhewe theve one 12 Jlows N Randoli then

Nuwmber - 04 dots = 8 %19

- 9€.
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so\wion -04'-
&iven that.
Anu and Meenuw ane sistevs.

APDU 1S 5 Year ypans Y omngey Fhan meen .

Let * b2 oageot Meenu bthen

A9E o4 Arr N tesms of meend 5 age =[h-5dYears,

solution -o05 -

Glr

pranges axé Su“\{-\hel'f\’qns{'ey‘(?a fsomMm Lodgel box
to sSswmalles Lot .
amallet bot containg M O¥anges,

total OFVANgEs i1 Smalle boreés = BR.
ovonges Left ated tyonsfime = F.

o the Loaae.-r Boh =

‘. Tokal Ovanyls
Tokol oFangeg (n Smalley Boles +
O anges L,g.("{ afky “Avons &y

= 31‘\'1

e

Solukion -O6-

R R
Hms\na? & Scove \n Gcience = A

wasche' S Scove i maltnematics - 2 - '
4 X &€\ ence mask3

115
= 37
2— 415
(.'
- 3% +60

Q



eolukion -o -
Xt Hae given Higuow

T ¢ dae number of tviangles formed 16 %, then fo,

mamber 0f  match Slicks ¥eguived = o2y,
(eg'- H=|
Sk T ey F3
A=

20) S aDA IS .
wne e n 1S the number pf yiansie

gohdion-08 -
By the absemed Pakttesn .

I e numbés of lettty A s foomed 1S % then L
EN bhg

Aumbe of  makch Shicks Fequived YA 4z

—
by v+ - A
L) 2 =lo
Yz)4a2:= 14



Edeacise- 9.2 .
golurion -o\ .-

Gy [T
aide of eguilaknal twiangle -0

o Ernpud ’H"\G-L
paime® of a {viangle = Sided side + gids

= gt A
=34,
ﬁ s pesimetti = 38 |

S

cplubion-021"

G\t
cide of wegulad heragon = 4

Numbe of Sides in hexagon= 6.
pesime k1 of o vegulax fap,iag.;m: & side

= Ex 4
= &40
aolubon -03.
al~
Lgp.@_'uﬁ ot edge of cubf =4 .

o ke all dendins of edges ase equal
yendh
Numba of edaes n cubé =11

gum of iEhQ'mS of all the edgey of acuke

T2 LA
=124



aploukion I'F;-

& 17

wadiue of civele = v tnikg

By hé awkove figurae

e Enow  thak

duame ey = 2y radiud

Leng'!r'ﬁ of o damdu  of meivele = Oy  [rwpw

=7
8y j

I



gnesncise-9.2;:-
Solution -o1-
Divisibility by 5 -

“ A pumbes is divisibl® Ly s if its Last (unit’ <)

digit O or 5-
pivisibility by 10:-

A numbe is divisible by 10 it its last fumit's)

dja‘.l: (= -
—» Foaclh of the numbers 2125, YyAag9q0 , 1602 5 and

4 500010 15 divisible by 5 1Whese as none af b

mambess. 5682%, 1893213 is dvisible by s,

= Fach of the Numbers {8930, 4 5000 10 divikible 1

o . toheye as none of the mumbers 375,7603 g

56823 .1893217 15 divigible by 1o,

Solukion-02:-
pivisibility by 2:-
A number 14 divisible by 2 if 1ts lagt (unit's)

Livigible by 2 ie. \FiES last it 15 0,0, 4 6 550

oivisibility by ¢

A mumbel (6 divisible by g i its lagt dwo lunil's
ang ten's) digitg 15 divisible by 4
pwisibility by 8

A namba 12 diviGible by g. if the bhe nunie,

fosimed by 145 last tnnee digrés Cunit’s, hindreds,
tens) digits divisivle Ju e« |



- Each of the pumbats 540/9.7238 40, ¢5310gg 15 689
229210 IRy
::, Z 46 dwicible b2 I862as is ot cmfs.ue_

5 £ach of the Mumbegs 1238 40, 6§53108%. 15689604,
s»210 48 divisible by . Syoly, 186235 ase pol
Gﬁw:sﬁb]e Ly g,

— fach of the Mumbas 123840, 6531088, 5321098
d,;uia'an by @. nome oOf the numbes g4oly,
186236 § 15689604 isnol divisible Ly g

solution -03-

Aivsibility by 37

A nuwmbe 1S dwisible by 3 if the Sumof its
Aivisible by 3.

() Hese, the Sum of the digits 143444 s 15, which is
Aivisible by 3, - 134) vs divisSikle by 3

) Here the Sum of the digits 5494043 4| = 19
(ohich 18 divisible by 3.
Thene fose 59031 18 divisible by 3.
(> Hese the sum of Jigiks W2 +244rs461748 = 36,
ohichk is divisvb le by 3
Thenefore, 12345678 15 divisilkale bY 3.

> RHene the Sum of digits S4+6+04341+9: 24
Lhich is divisiblie by 94.2.

Thesefore, 560319 s divigible by @



(V) Here . 3um of the digitS T+ a+t0t643+4¢ = g4
wWhich 15 not Adivisikle by 2
Thenefore 12063y is not duvisible by 3
(v Wexe, gum of digits 317+2+1+4+ 54019 =17
Lich is divieible by 3.
 Thane fove. 3121509 (8 divisible by 3,
pivisibility by 9.
A mumbe s divisible by 9  jp e sum of b
digits digits divisible byq,
Gy Suw ot Aigits =16° not drwisible by 9

(n) Surm ot d-ffl"'f-f" =18: Adwisible by 9.

Lh) sum of Ao ke = 36 Aivicible by 9.
2y not divisible &Y 9.
g2; mnokt divisible by 9.

o=, divisible by 9,

) Sum of HI! ks =

b

(W) gum of cigits

Vi

(V) Bum of aigits

Solubion-04.-
i) clivisibfl;ia by n:-
A mumbet 15 UViSibIe Ly n if the diffesence of the

gum Of thE digits at the odd Places Cstaating {

. place) ond # the sum of digits ak even places |

one

¢ ebasking From tens place) s eithen o or dwvigible

By ‘.
curn o £ digits ok odd Placer = 1+4+8 =13
cumof digiks ok even Placer - .0+2 =2 .
Theiv daff = 2 -2 =113 dwvisikle by n,
Loxefo€e, lobag is divisible by 1



cnd o Sum of the d.lg”;‘:‘. at add Plares:= 1+ 1440 =17

cum of +he digits ab even places- ot64+ 2+ 3 =17

ey diffevence = -1-11 =0

tesefove, 10'6 9802 15 Aivisible by 1|

i

142 g =2y
14"5 +% =15

(ily Suwm of the digits o odd Places
cum of the digis ab even Places =

They daffewence = ay-15 =9

Thevefoye, 1136985 is ot davisible by 1V,

Solukion -05%-
[ Aiviel bility by 63-
A numbey 1S dawvisible by git it i< divisible by
as well as 3,
Since the umt digit 'n the given Number ig 3 So the

qwen number not divisible hy 2.

qzg613 is not dwvisible by 6.

(wy 2171944
Sinmce the unit Aigit 1D the Qwen nuwber 1S4, S0 the give,

rumber 16 dinsikle by 2.
Sum OfF WhE digits nbthe humbey - 24 W4T QA4+ 4
= 37
tovich 15 dawvisibleby 3
99 4y 1% divigible by &
C-'I.‘l"-:! EQBL{IIE_
Snce the unit digit in bhe diven number.iS &, So the

F'wen number 15 divicible by o



Sum ofF tne digits M the qwen Number = 5401314 t14g

- 41
= 19+2

which 15 el Adivisible by 3. 2|

coxylag 15 dwvisikle by 6.
Cwy gqoVd52.
l WS, Lok
Since the unmit digit in fhe SWED nurnkés 1 Whicl,
o divigible by 2.
sum of the digits n the given number

= Q+It345+2 40
= 28,
LW & mot divisible by 3

S 9013561 s nod SJavisikle BY g

(v) €392\0,.

snce bne Unit Aigit in the qiven Numbey iso
wWhach 15 divisible wy , ’

qum of the digits in ihe aiven numbev

= E+2YQ42 41+ 0
= 927.
which e davisible by 3
. gaq210 1o divsible by €.
V) 1190l @4,

cince tme unit Ag\bin the given number s 4
which 18 divigible vy 9, _

cum of the digils \n twe gW*‘-’-ﬁ numbesy
= |+ "T-Jrq_*D"j"} 'I"‘B'I’LI

. = 3o
wich 1S daviekie kby 3,

\19cl’ Yy iS Aivisible by &



Solukion -of:-

() For a numbev to b€ divisible by 9, gumof 1£S digits
Should be davisible by 9.
Sum of the Fwven digits in 4110+ g2
s+t 1082
T 839.

16 weadd 55 it becomes a1, Whch 18 divisible

b 9.

Theve fove, ¥ 15 to be veplaced by 5.

The number formed 1S 47105 82, (owch 1S divisible
by 9.

(i) Sum of the given Augits (n To¥ 354722
=140 BISH6 b b gy
= 3Q.

TF we add 4, Ty Le tomes 3¢, wweh 1S divisible

by 9.
fneve fove, % is to be vePlaced by 4.

e num!bf‘s' ?GTMEC;I ig 1o H35£"|12’m1f:|d-, '15

divisible by 9.
g olukion - o1

@ 4 617

(i)  bBre amallest Aigit bhat we hovetoadd to

&
1q T2 2 togeb 21, Wwich 15 divisible by 3,
e numbey formed 16 1+0295, which 1S
' T 46

divi i€ by 2.



- The Swallest digtt by wwch "v+' s to be
ve Placed 16 2.
(WY The %TEG'-EG-EL' digit that we€ have to add 4o 19 is
G to get 21, oWich 1S divisibléby 3.
The numbex formedt 15 48672, (dWCh (g
Avicible by 3.

gy . The & 9veatest digit by Wi, 't y!' 1g to be
Yeplaced 1S R,

(Y- Hase¥.

iy Suwm of the AgiES in 475 6k2 (€acept ¥)
‘=11-'c‘j¥54£4rl_
= 24.

The Smallest digit that we can add to &y iso
te geb au, whch is Aivisible by 2.
The number fovymed is 47 5 607

‘. The Smallest wigit by wWich. 'y’ (s to be

sxePlaced is o
cit) The 9veatest digit thar we have to add te 2y
i5 9 ko get 33, Which (s dwvisible by 3.

e numbket fovymed 1S 1{156?1_

. The ﬁreaﬁsesl- diaiL by lhick ¥ 15 Yo be
YePlaced is'q’.



colukion -08
() & % 9U8e4r ¥ OCCuYs at even place.
gum of digits at odd place - +918 = 285
Cum 6f MGiks at even place Lexcept #) = 4+ 4 =g

Theiy difference - 5. ¢
= 13

T t 'v' "5 YepPlaced bY &, then the Sum of
bhe AiG1ES ak even places = g4y +y
= e
Their Au feevence (gum of dyaits ak eVen Place -
suw of A3Vt abadd Places)

T aA5-1Y = ) 1 LV
M T, alachk is Aigibie by, So heat

th e n
umber fovmed will be divigikle Ly 1.

1

¥ 5 ¢,
Numbes fotmed = BEG4SY.

(i Q532761
% meours ab even Place . ) _
Qum of digits ak odd Place = 216 =9
sum of digits al even Pplace = A+ &+ +2 = 23,

Fuwhaiy diffevence = 23 -9
= Y.
TL % 15 tEPtE{;aﬂié’-d by 2, @athén Sum of dMgits

at even ploces - 346 +9
= | 2
Their daflerence = g3 1o
=, which S duvisikle by 1. So b,gy

kne number formed divisihie by 1.
¥ — 3

Nurtbey  formed —b 9 25 3762.



Selution -09:-
S 2% 4106
aince the umib digit in the 9iven number 15 6. Which s

divisible by 2.

a% 4706 15 divisible by 2.

the sum of bhe Aigits (edcept®) = &+ +140 +¢
= 19.
(4 tme Smallest number digit that we add to 19 toget s

gy 1S divisible by 3.

s 2.
e numbey fowxmea 1S 2247706
e . .
ME Swmallest gk by wWhkch _* 15 to Feploced
e R

. @ayloE 15 divisible by &

Gy the TGreatest digit that we add to 19 S8 to Jeray

5 dwvisikle by 3

which 2
ber formed 'S 284706, which is clivigiLle

the num

LTThReE ':‘:_"‘L'E'|:I|,‘|.'.'-"'r5E d‘*‘%it 1!3:3 L "‘:: ' Ii:‘ 1 iE . E = h"'EI‘
. . Im&*

e @
. 9g@a41o06 1S divisible by 6.

by 5885 %34
Since the unit digit \n e a-
Fiwen numbey 1 g :
4 tohich

s divisible by 9.
the Sum of tnhe digiks (edcept %) =54+t S 344
= 21.
(» Yre Smallest disit that We add to 97 is o b '
. - * M c
1 dawvigible by 3 ek ot

L W ch
the number fovmed (S sgygozy fohich TS divisige

by 3.
the Smallest digit by WWh ' 15 toveplaced is 'y
o



Wiy the gveq’cest digit thol we add to 27 159 {0 ge,

26  (okiCh 1S divisible by 4.

e number forymed $82592Y , which 1S dlVisible by,

e %1-2:1’:25'& nunb®l 5835934 'Y s 9, wwck 1§

divisibie by €.

Solution -loo-

¢y 1ol
AS wOx |

6= \00 and el = 1=\
\oo & 1o & 121700
co 10 16 the Longest Number Such bhak |oxioclol,

The Pry¥ime numbers 85S bthan o @9ual 10 10 ane

&.?:JEF..‘
Note that lol iS not divisible by 2,3 5 and .

Thevefore, 1©1 1S A Pyime number,

Yy ash.
AS I5%IS = afs <asl and V6%16 = R56 2351\,

o 15 16 the lavgest number Such thak 15%15 £ 351,
Prire Prumkeys 1285 than OY €9ual Lo 15 gre

9,3,5,7., w and 13,

WMoke bhak 2,3,5,7, W and 132 ane not Factorg
fox asl.
Thervedore, 251 15 a Pyime number |
Ly 323,

AS 17317 =289Z 323 and 18%18 =324%323

so 11 s e lﬂ-ﬁ‘i,ﬂEE’c h“m'l:,.:f Suclh bhak 1T\ < %g

. ov equal to
The prime numbers lecg bran. 1 e 5 3,5,7,1,13,17

223 15 divisivle by 11 gp 221 e mot a

Pryine nmuamber



FA€yc15€e- 9.3
Solukion -0 1%

alin

Numbels ene 1,5 andg ),

The exXpP¥ession, feoxmed fyom e Gven number

‘Bﬁ‘:fS'{’Hiﬂﬁf the given <onditions avye s

E471 18, S4a-71.,.(58+230-71, SLl5+77)

In foct, We Can fo¥m mMoTF EAPTDAIONS Sgtishy,,

tvhe given conditions
Solwion-oL: -

By obsa Ving tne AiVen Gb&ﬁth'cfcn_’
e ) and (W) ane  wikh numess oanly

G, Uy, 11w, v) oae wiby, Vasruable, SPumbeys el
golurior -03:-

th  addition . 5 added O *

) Sub bvackion | Subtvacted Fxorm Y

G mulkiplicakion oz mlkiplied by 3

W Avision, P dwided by 5

> mwkiplica¥ion and addition ) fivet Kmuip

U

eviy routdPlication  and Subtsaction’
st Y4 malliplied By 2 anat & Subtyactey

From the Producke:

|



v muJJ:lPUcC\HDﬁ ond addition B

fisot m mulkiplied by 1 and then 2 added

Lo e P‘TD&JJ-C':-.
ey Aivision and subtrackions first 4 diWVidled

2 and then IS Subtvacted frow the guotienk

Soluhion -0 -

() 1 added to P

P
oYy P gubtracted fvyom 1
a-f
) F mu.U:".Fl{ed ]:_.,q_j “
aF

Cwl p d.#\!lci?cl by A
7

(v) = divided by p
“1

—

.F\

(v 1 Subtvocked fxom _vn

—rn-7
WY P udkplied by -5
—sp
cyw) - P divided by 5.
g
5.



SolWwkicn -5+
Exprenions fos the following

iy 1 added to 2m

2 I
w1 subtvacked f¥om 2m
' 2m -1

(w) 2 added to & times Y

5 pmews Y =5Y
549 13
avd) 2 Subtrackd fyom S timesy.

54-3
V) Y ois molkiphied by ~8eand thensadded to

Lwe Tecuwd
— 2y +5

(Vi) Y multiPlied BY 5 and then then e

veoul aubbksackd fvom 16 .

Bis =585

gapredion — 16-95Y9

go\ukonN ~0 6"

(Jj & wove b)ﬂﬂ Hhe ;:"'\T;CE of a numbeyy «

EAE

g+ Press” ox maokhematical form

2N L6



) 1 kaken away fH~om Y

M odha mod cak form
Y-

(y) B s ihan the quokient OF by Y

-?-:"-B'.L

Y
Selution -3 .-
The E'?LP%?OM’ —Fcﬂ"n“iEd
cFuing the given condi kion

paly, tob,u-eutE %t-%‘

mmm&:cal form)

Pvom the gven numnbers

5{):& ‘ [ aANE

1n Fack, We cawn 40¥m mMoTE ewpreds iond Sakislying

1 awen conditions.

5nlu+}on—o€:—
The expPressions tormed from the given NUMbevs

catisfying the given conditions one

-, Iy e Iw-2, 8 1,4
Qu4, 2y 3 3 ERREE= e

T tact we can FoOYmM Move CApPregsiond® Sﬂiig_pﬂhﬁ
the given conditions .

solukion-09:-
Sludent <Crated moaxe in Erﬁl,;fplq =
deducted marke For hand “C"“"H"‘f} -5,

E'jcl.l.dfﬁl"s _F;nﬂJ_ g core n Erﬂ[;-sl“l Ei—SMmtg



golution —10;-

Raju's present AJE ~ Y geans

E’a&jwiﬂ- falhe; Age = 3 (Ragu's Aged 1 & yeaad

=39 Q) Yeans

golukrion-it:-

thojee times Moww's Age netk Yeon 23RV ,
. al .

(W Foun Hmes pMokivd S AGe 3 Yeon s QYo = 4 (A-3)Yeam

pfe:;,e_n’c Age of HDMM]S wuncle 1F RS

¢ old as Mohind LT Le

= 5 . ™ ij'MS

£

iy the

uncle 1S ° times A

L0 Years fyom NOW

(i the present AgE oF Mohiw!s counin, it hes
coumn 15 2 yeons €55 thar, one thind of

Mowwi's ge Ve Years age. = (4 (-5 -2)Yeass

Solubon-12%
height of e cuboid boi = hem .

Length = 5 Cheishd)

= 5haom .
Bvead b = Lengh - 10em
= 55-'-1— 1D €m
Solution-13. |

Qus ycavess in houwr = vigm,
pisk ante be tween 1oaPun and olz,!.,lt.k
- 6(V Em) + okm |

= &V+ Qo km

———



Solukion - 14

¢33y Thé cost of a book 1 3 Emes the cost of
a note book.

(1) The cost of ofl PA pa Litye 16 & times the
cost of 2ice pes Bag.

¢iy The speed of a bus IS 1o km per howy more

Yhan the speed of e truck.

ew) Tony puds 9 moakbles on the table  He has

a9 wmaxnbles ' his box .

v ous class has n cstudents . “The school has

20n sl:ucle.nls.

tvi) Rnauig uﬂf‘ﬂ 15 4 'H'TEE oldey than R.“.HH qmi

S
[},T\"I.?j BN,
sumbes &F S0wW5 .

ount 15 2 Yean S Younger than Jls uncle.

e lotal numbes of dols L5 & times the



gle¥cise -9 .4.
solution -0\~
(D 4% = eyt y
= 16y
=64

Wy (=€) = (~6) £ (-6) XEE) K (-6)
= IENAE

- 1296

1

M M 9L RdRD
(:5) Lt
243 x3A3

9

-0
L

- 16

-_—

i

civ) 23 ¥ (s = (-2)% -2 x -2 A 5 X5

= 4 (-2) A5

S0 lubion -02.)-
ci) A2y

Subsl;{'l}.k"'h& Az 3, Bo2 N bhe expreion

I

wegel 21124 203 P2

i

q +y

.:‘-I'_-‘l.

81124 = 13 .



Wy 51 -3Y
aubstitubing A =Q and Y= -5 in the giyen expPregsio
we gek - ’
54-3Y = 50)- 3(-5)

= S5¥Y32-(-15)

= 0+ 15

- 25
Cn
1'} ah"flb_.tsc:r
substituking az2,bz-2 ondc=-) |
L=1 an e given

e P-res&lc_—;n we gek .

a¥2b-S¢c = 2%ac3)-85 )
- 2-6-5
= B-%]
| = -9.
GV) ap+ 29 + f45+pg,
substitubing P=-1.9 21 and y-a.
QP39 +47+P9Y = Q-1 4 3(2DAIH(3) A (D A2 R (3)
= —avé+1z+.{f,e3
= s
= 10D

2P +29 ¥4 +PgTY =10

(v> 3ab + 4bec-5ca
cub stitubng & = 4, b=5 and ¢= -2

abilf be - sca = BULE) 1y (5)¢2) =5 (=W
= 3(20) +Y (10~ 5(-8)

-

= €o ~46 Ho

= £o

3



Solution - p3)-

SubGktubing A=2 in the Jiven expressio
e n

e , WE gl
HAT-3U +H :{&}{&3’"-3&}4-;, = @ vy-¢ de
:1;3,6-
= €.

Lﬁ_&m 31+q =& J

e

Wy Y- g At~ 6]

Fubing Az o bweé gwven e_lpvﬂésfbh, wae-gel

5 La_.,f'_ ISR

ELA‘bEH
N (3) -

4 (V" scqy— 187

-
-

\DE-HE*’E*T

VW5 63

- B4

Gy 3 Drgrt-nt @
5u.‘b€ﬂr'u.lru,lﬂﬁ'?5 SR I La! e awven eApFESHON,

we -‘:'jg,'\.-

B L 3L—l}3+"1L*1-'}L-'~ (-2) 4@

gc,gjkq(q)—%? +a

"

_ayy 36 410

i1

L 6 -4

1l

a2

—_—



civy amt-51>+M-3
cubeh tuking 2 =-3 in bthe Given exprexsion

St -8B = 2ca)(q) -5 (3> (-3

g (-5

F-2) -3
g2 - 5€23) —&I|-3
|62+ 135 —2H
- 162 + 1
= 7173

50\9\ Lwon -o4 -

¢y 6- 1%
sub g ki

eﬂkx>'{efif5

ubking A =35 i~ bhe given

on s Wweé aek
& Bl (s
= 6-’](-15“

= £-1"Q

- -1619

Ay R \g. * =9

(}\3
11—

g r o -0 (s + 38 1O
. 3(25) ¥4o-'0
= 15+t30

—_ . = 108
i - L
yr—=gerta2s ¢ N=95
2 (63 -4(5) - 6(5) +2S.

axP-H4r*—éxntras
2§ Uafs)- yeas) - 30 FRS

f

= Q50 -~ 100-36 RS
= |45,



Solukion ~08 .-
iy By subsh tuking the given vodues o=z, Y=3

& 3 1. n bhe gwven gxprexdions we gel.
am = =

0\':3:2:

(i MY (2>

— -
-

Z =}
. &
-
- -6.
(W 2A¥3Y-4Z 92y 4a(3)-ye)
DAa-2Z 2(2) -(4)
- 1y
€+
= 1y
=
P
Golubkion-06:-

Given EAPWSSION 1 s
a*y pr4e>- aab-2a bc-Qca d3abe.
By subshkitubing the values

a-2,b=3 and cz-2 1n the given exprersions
we gekb.

oAb te*.9ab-abc-2catdabe =

=

Bty 030 (-ad - a.(2)a)-a(3) -2 t3
(2)(3) -2) -2 (3-2)

- 44944 -8 - =120+ 3(-13) + 8

- IM-3464 ©

2 5-36 = -1\

0"



Solukion - 07:-
Given E-A.Pfeﬁ&ioﬁ N P3+?.3—"'3'-3P%T

By 5LLL5\?1M;”5 Py ,2:--3 and ¥=2, WE€ ag{__

P3+*1$+"1}—3‘ Par = £q33+{—'3=35+[ﬂ}3-’3£‘-rJE-‘?,‘,if'z_}
= €44 (-271)- B - (-72)

- &4 Ft12-35

= 64137

= Jol.

Solukion-08!-
Tven g;u_ﬁi:weysfon s amn
. v m-l N2 -
2y subsh tubion and =3 e gel

e l‘jm:_n-rp

g_mn‘ia i'EirﬁLn +P= e @)1 I"j{!??r(a}),‘ €-3)
g (16— 15(2) -3,
_ 32-30-3
= 3a-33

= =\,
solukion-09:-
Y The value ofF 322 = 2(0) -2

- —_ (= o)
-2 4: A
Lfalse.
. L
W arT-A -3 = (9 (DT - -3
& 41 -3
= 0O

=0
Tyue .



2 4 ¥ =13

M

C1|."|."'|.".I' F=5, 9

prya”

i
<

= 5% 1272 13
S 954+lgy = 169
=> 144 =1éq4
Tyue .
LV VE6-3% = 5%
m=2

1 6-23(2) =512

|6-6 = |D

10 =D

Tl .
Solubon-10]-

Gy (AW - oCyoany + Y-
A =2 }j:~3.
l'1-'---

11—
9%y 8- + B

(2-3
A = 4 =129
A = A

L
o Oy = -2y p oy
(2 -2 = 9¥- 2 (-3 e

(@47 = Y 494 12

SL = 12 112

25. =25



G ATy = (A3 (A=)

2% (-3 "= (2H3) (2 (2D
4 -9 = @-220243)
s = (-DLB)
-5 = -;5 -

GV D S -y gy
1
(2-3) "= (230" 4(2) (-3)
(-)>= (4D 8(-2)
25 -2%

A =
=1

(v Btyy)3 = a3 *b‘}"'r?-"*’j‘i F3ay
£2-2" = 274 (-3 4365 (1) 4 B2)(-3

B-274+34)-2D4.23 RATER

i1

L—\)?’
B-27 4+ 301+ 3(18)

B -2 {36) 14 8Y

-G (262

11

[
s
(£



Eaencise~ 1-5.
Solution -01.-
(V) an eg uakion wikh vaswalble =
) o eguakioh with Vasuatble L
t\f-‘i') Tt i not an esuation

(v) Tk 15 not an eguakion

(V) Tt is nhot an eguakion.

W) TEis aqn equakion with Vesuakble 4
tvit) FE 15 not an €5uation

ww Tt isnol an equakion

Lit) am eguakion with Voasable g
solukiOn -02.-

A= ob (1¥an sperking 6 to R¥S

C"'."I" ) ‘ﬁ'f’l., = - 6 .
Avidivg Loth &ides by 4
Y

= —

Y “



Ak PIYing  botn sides by

T._._;"L - 54
=

e = N5

v ab-3 =2
Twansper HNO -3 to ERS

2y =5
dividing both sidas LY -

vy H-5y =2,
s amsporting 4 FO RIS

-5y =2-Y

+59 = 42
dividide both sides by 5

Y o

5 5

=
2
27z



Solukion -03:-
tly s = a5
dividine by & 0P Joth sides

6 AHD as
—_— T
5 =

2+l =6

() orxr-) = 10

viding by 2 om Lotk Sidis

2 (xn-Y)

10
—_— = —_—
oL o
=3 A -1 = 5
— = 1]
iq

anulkbiply by 4 on Loty s oy

A -
L'}“‘l = TIx¥y

H
3‘1*\ E |_1.\1
Tyeouport -1 to Big
2n = Lyl
divide by 2 on both sicdy
3% _ ys
3 7 3
A =1s .



Soluktion -0y -
() sr-6 - 12-%

T*(Q'ﬂ_SPOV} -6 ON RHS
- on LHS

11

GA+AL = 12+6

G’JL. = |%
dvide by ‘6on Lok ades

Rl K
€ ¢
& ol
i N
41> 3+‘ = 4-n

Yvoms Po¥t +1 on RHS

-n on Lds

mulki ply both siduy by 2
bn Y3

2 = 343
Ln

o]

it

1]

9
i
.



gy  SpE0E g -ap

"'fO\Y)SPOY{_ 3 to RHS
-2 P to: LHS

5P+2pP = 197

- =2

Jvide bothsides by 7

18 = 12
A .
.S
f'?
: A¥ 5 - 2
V. 2 +’£ R o
Transg fPort '5_5_ 10 AR
RXAE™ = 2:~§
3 =
51 - 2(2)"5-(3-)
¢
8L (y-15) 4
é S
4
g = !
A - -\
528

—_



(\Y)) Z\.,,5:’>t

2 = =
~4vonmsport -5 to RHS5
A Yo Lus
3
A o &
e 2 e
Q 3 4
e R ‘
4
||‘\P\3 L)\j & oM LD""HSIJJJ
AL
g =5
r=¢g

(v \8—%2 = iy

cyamspork “27 o BUS
2 :

0
le-M = Y+3¥

to LS

ulEiPly by 4 o beth sdo

XY =(4Y X3 4

—

&
L
1
5 x



Selubion-05 &

i) BRI = 1%

AT D= % [ diwvide by 2" on bkoh side)
Z

A4 = (§

A= €7 [ STyangPort 1 10 P HS)
A=
A==l O ZLVETY = R =g
2n+) =g
GV Qad=*+ 2
divide by 2 o7 botu gicles

o = Aty

vl oY

i *5-!

Sy :
2iw-1) = &
ht2 = ¢

T2 (w=1) = (A



) _ |
t 31_3_:&(1_%)‘}5_

Yrams port 7 4o e¥s

- F
2n = 2 (7 Z_3+5‘+_

3

Th= Qn- ¥ 5+ 1
3

Transport 22 Fo LWS

Zr-2n = -1 +5 +)
3
A= @ -3+ (5+]
=
o= 1=
2.
g{_}}_)ﬁ‘L = 12 |
2 EN D‘(‘:;‘-;_ﬁ-l—g
2B
_— z 246~ 32
S ¢ 22, .
3
r‘:’j . -
"1 —
=
2% _ 3%
Leys = RMS



vy ) —RAL-5)= 6(AH) 473

%1_;0‘;_21-\40 -s5A+5+73

6""—+6 5N+ E

tTyanspor b Sk 1o LHS
g to BHS

£r-5*= 3-64
. e
A= |
q[ﬂtm~n3~ﬂ[q)-5J = Hla+1)+>
3
S y(r»-20-6) -8 18
=) j2 % b6 2|6

= | & [€ -

]

Ao 2 LlaR=PD-2(2~85) = 5(X$1) 43)

-



Civd 29qn.

As 1949 -6l £ 2917 and R0V Qo =Yoo >29%.
co 19 15 the ladgest number such that 19x19 ¢ 391
e PFime nurnbers €SS than oF € ual to

&!3!5i‘11 \"!13;.1 Q'ﬂ'd ]E"

19 aoe
MNote

ok 297 1S npt divisible by 9,3,6,7,1,13,19
and 19 .

Thevedore, 291

e a Pyrime numkber .
Sow tion -1-

10 detesrming 37264 5 5 divisikle by 45, we tesk (b por
Aivigible oY Sand 4 ppth
HE the mumber

s in the umtsdigit Place, gp it
e divisible by 5.

pe e Suwmn

2714+ 2¥Yery s
= 81

Aivicible 5w A,

we TNote bhat S and Aode co Primes  berfue

b 372645 is divisible by yg
solubion-12 -

To-debermirme

foctora fov 12 -212,3,4,56
A mumber divisible by

1z s clivieble by
IJQ,E,HQﬂcl{.
S plution-13 -

factos Fof < -2, 4.
A Numbef

c;ih'si*sif by bot, Jandg AW

d.iv.'a'tlz V2,8 61229
Y



Solation -1y -

(iy Falre
L) False
(WY Tsuae

(W) vuae
(v) TYwse
vy Folse
) Tr e
LE Fadat .





